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1. Introduction

This document contains LTE UE simulation results with receiver impairments and implementation margin. The simulation assumptions are in accordance with [1]. 
2. LTE UE demodulation results with implementation margin
Simulation results with both impairments and implementation margin for a set of FDD test scenarios from [1] are given in Table 1.

Table 1:  FDD simulation results with both impairments and implementation margin
	Scenario (from ‎[1])
	Description
	Test point
	SNR

	9.1
	1x2 10MHz ACK
	0.1%
	5.9 dB

	9.2
	2x2 1.4MHz SFBC ACK
	0.1%
	 6.2 dB

	9.3
	4x2 10MHz SFBC-FSTD ACK
	0.1%
	5.7 dB

	9.4
	1x2 10MHz ACK
	0.1%
	0.9 dB

	10.1
	1x2 SIMO 1.4 MHz
	1%
	-6.6 dB

	10.2
	2x2 SFBC 1.4 MHz
	1%
	-5.5 dB

	10.3
	4x2 SFBC-FSTD 1.4 MHz
	1%
	-3.8 dB


Simulation results with both impairments and implementation margin for a set of TDD test scenarios from [1] are given in Table 2
Table 2:  TDD simulation results with both impairments and implementation margin
	Scenario (from ‎[1])
	Description
	Test point
	SNR

	1.4
	1x2 QPSK 1/3 10MHz
	70%
	-3.0 dB

	2.1
	1x2 QPSK 1/3 1.4MHz
	70%
	-1.0 dB

	4.3
	4x2 QPSK 1/3 10MHz SCW
	70%
	-4.3 dB

	5.3
	4x2 16QAM 1/2 10MHz MCW
	70%
	9.9 dB

	6.1
	2x2 16QAM 1/2 10MHz LD-CDD
	70%
	13.5 dB

	6.2
	4x2 16QAM 1/2 10MHz LD-CDD
	70%
	14.6 dB

	7.2
	2x2 QPSK 1/3 10MHz SFBC
	70%
	-2.7 dB

	7.3
	4x2 QPSK 1/3 1.4MHz SFBC-FSTD
	70%
	-0.8 dB

	8.2
	2x2 2CCE DCI2 1.4MHz SFBC
	1%
	4.8 dB

	8.3
	4x2 4CCE DCI2 10MHz SFBC-FSTD
	1%
	1.1 dB

	9.1
	1x2 10MHz ACK
	0.1%
	5.7 dB

	9.2
	2x2 1.4MHz SFBC ACK
	0.1%
	6.3 dB

	9.3
	4x2 10MHz SFBC-FSTD ACK
	0.1%
	6.0 dB

	9.4
	1x2 10MHz ACK
	0.1%
	0.9 dB

	10.1
	1x2 SIMO 1.4 MHz
	1%
	-6.6 dB

	10.2
	2x2 SFBC 1.4 MHz
	1%
	-5.5 dB

	10.3
	4x2 SFBC-FSTD 1.4 MHz
	1%
	-3.8 dB


3. References
 [1]
R4-090188 Framework for the LTE UE demodulation requirements (rev 6), source Nokia.
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